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INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Questign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are printed both in English and in Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 70 will be settled based on the
Questions in English.

Twok blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Two statements are given below :
i. Aurangazeb banished singing in his court.
ii. Largest number of books on Indian classical music were written during
Aurangazeb’s reign.
Considering the above statements, which of the following is correct ?
A) Bothiandii are true B) Only iis true
C) Both i and ii are wrong D) Only iiis true

2. Many musicians and singers had adorned the court of Swathi Thirunal. Find the
odd man in the following.

A) Subbukkutty Ayya B) Alagiri Naidu
C) Sivanandan D) Vativelu

3. Who is elected as the President of the Volleyball Federation of India ?
A) Rajkumar B) Jagan Mohan Rao
C) Adille Sumariwalla D) Achyutha Samanta

4. Among the following which statement is historically wrong ?
A) K. P. Kesava Menon was a leader of Home Rule League.

B) In the election to the Central Legislative Assembly held in 1934, Muhammed
Abdurahiman won by defeating the Muslim League candidate.

C) Mannath Krishnan Nair was the leader of the movement for tenancy reform.
D) J. M. Sen Gupta was the President of the fifth All Kerala Political Conference.

5. Match List — | with List — Il and choose the answer from the codes given below :

List -1 List -1l

a. Fardooniji Murzb i. Jam-e Jamshad
b. P. M. Motiwala ii. Bangbasi
c. Babu Jogendranath Bose iii. Bombay Samachar
d. Dayal Singh Majeetiya iv. The Tribune
Codes :

a b c d
A) i iv [ iii
B) i iii ii iv
C) iii [ ii iv
D) iv [ iii i

6. Who preceded Yuri Andropov as the leader in the Government of U.S.S.R. ?
A) Nikita Khrushchev B) Konstantin Chernenko
C) Leonid Brezhnev D) Mikhail Gorbachev
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1. Quewsi(h) gyPlsemnsser GG Clasm(RSsLILIL (ReTareT :
i. RIBISFL evig) gFemeuuilcy LITHeUMS Sl CIFUISTI.
ii. gemrms&Fiier 9" Hs% sTevsPev @QpSw Lmrbufu @ewsFulled 5%
GTGUSTGSST IS5 e B UNGUITGST LSS HBIGGT GT(LPSLILIL L_GYT.
CLopseiL_ FpmIsard &SP Glamenr(h), LieTalhalaTaunmled 618 FMwmetg o
A) i pmib i @oewTRId Fif B) i b ®Cw &
C) i wpmibd ii @uewT(HLb Feumy D) ii " ®Cro i
2. U QMFEFM GFTF@FLD LML SAHE@HLD FUTH & (BHTN 6T 9 TFe® 6L
2IVEIH NGB (BBESTT. LIesTauBeuasTaDDIe alSFITFLOTEST LO6SHe6wTd: H68sTL_PlicyLb.

A) sliys@L Ly o B) <ip@f pruy®
C) Qounepsaeir D) auig Gaugyy
3. @BHw aureSlmed gl L_eioliler Femevaunns Csip0lSHSSLILIL L euf w9
A) grg@Lomi B) Owaeir Gonser gie
C) 990G HinMaucveur D) wdwysm swpsr

4. Nereumetataunmled 61hs YPSend augevnDm THUWITE SaIDTCTSH 9
A) Gz.19. Csaeu Goeest CGamib emeh OSFH6H SeeVeUTTd Q)(BBHSTT
B) 1934 Q)ov pev_Qunp g@Hw 1”1 1o6sing CHiigedle), (LD SLIGITQDILOTGCHT
wpavedlth 658 Gaul” Limereny CsmpaiySa Cleaunm OLipmmi
C) @Ss0555M10T QUIGHSHGHT SGVTTS LOGHTETS F)(heHeRTeH BT @)(HhSTT
D) Ggy. e1ib. Glgatt GLIST psTaug AHFev CHIar 9IF ey LOMBIL 1§ 6T SEOEVITTS
Q@psm
5. uliqued—1g i gued—Il 2167 Quns®), G CsmRSSLILIL Beiar @Gpluipseaied
Qops LG CsibblsHSsaLb

L g uied — | o aguied —

a. oSoLIigengd) (LprravL i. @mb-@Q) eLbaynd
b. P. M. Gur@eurevur il. LBILTE
C. umy CerGsp@umnd Gumev iii. umbGu Fwrdemi
d. swrer §m1 oSG wim iv. & L ilyyer
@GP HeT :

a b c d
A) i v i i
B) i ii i iv
C) iii i i iv

D) iv i iii ii

6. w. erav. eTa. QY. YIFIBISSDEHT Femeweugns Wyt et CrrGLmedha@, (Lpeit
@ BT w2
A) P@BsT &HCae B) sneiravi_neirig et QFiQeweitGssm
C) Cwmesii” 160 yauGreis D) Wewsev CamiLigGae
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7. Arrange the following into correct chronological order and select the right answer
from the codes given below :

i. Bethune School, Culcutta
ii. Madras University
iii. Sanskrit College at Varanasi
iv. Girls’ School in Pune (founded by Phule couples)

Codes :

A) iv i i i
B) i iii ii iv
C) i i iv i
D) i iv ii iii

8. Among the following which statement is historically wrong ?
A) Ayya Vaikunta consecrated a mirror as deity in a temple.

B) The Madras Governor Charles Trevelyan had persuaded the authorities in
Travancore to give the right for all women to wear upper clothes.

C) Pandit Karuppan was nominated to the Cochin Legislative Council.
D) Sahodaran Ayyappan was a member in the Sri Moolam Praja Sabha.

9. Match List — | with List — Il and choose the answer from the codes given below :

List -1 List -1l
(Author) (Work)
a. Ramavarma Parikshit Thampuran i. Panathinte Kadha
b. Manavikrama Ettan Thampuran ii. Ambarishacharitha
c. K. S. Lakshmana Panikkar iii. Lakshmi Kalyana
d. K. Kesava Pillai iv. Prathyakshasariram
Codes :
a b c d
A) i i i iv
B) i iii ii iv
C) i i iv [
D) i i ii iv

10. Among the following who was not a signatory of the ‘Abraham Accord’ ?
A) Benjamin Nethanyahu
B) Abdullatif bin Rashid al-Zayni
C) Abdullah bin Zayid
D) Donald Trump
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A) iv il i ii
B) i i i iv
C) iii i iv ii
D) i v i i
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A) sy eneu@esit Camailedled sevrentigew GlFuiauions LNgGayenr_ CFwigmT
B) Gl grev sauiei smievev L 0g6leuaiwest, B palsmmidnfed o 6rer B smisemar
UDLISS), 9eesidgiL1 C)LIcwIS% e @b GLoch 96l _semar jewflib o MenLoeiw
QULPBIGGuTTIT
C) wewigl” s@LieT C&1dd) 1 Ceveald@ LIMbsIenIsSILIL LTt

D) #Gamnggesr ouiwiivier wof epevid 19gem Feniuiled o myliergns Q)bpE T

9. ulyuwed — 1 @ uluwe — Il o et QurBsS, &G CHTHSHLILIL B6Ter

@O salSBBg LB dews Csin0)sHEsa LD

L g uied — | v aguied —

(<o P rfwiri) (16wl
a. groeuiy Lfs§d FLbLjamest I. LIRSS HeS
b. weralggio 611" L 65T SLbLTTGT ii. ubuMaursism
C. C%. 6To0. QVFHLOGRT LIGETISHT iii. evgpLO FHevwTeETLD
d. Cs. Caszeu LieTenar V. 90%wgpFMgb
CIIMOER S

a b c d

A) Qi i i iv
B) i iii i iv
C) i il iv [
D) i i i iv

10. ereupeuastaupmled “ ot Ngsmb riLbsSH” ans6wpSSHL_1seui wmi 2
A) QuepsLdlesr ClpgeiTwinG

B) wL1516060080%L1 L9651 pafld 9j6v-Fuwic)

C) wyigicvevr et Fuis

D) Qw_nmewrmevr” 19 mib
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11. Which of the following rock is called primary rocks ?
A) Metamorphic rocks B) Sedimentary rocks
C) Igneous rocks D) Stratified rocks

12. A line representing points of equal amounts of cloud cover
A) Isohyet B) Isoneph C) Isohaline D) Isohume

13. Which of the following wind is seasonal wind ?
A) Trade winds B) Westerlies C) Monsoon D) Easterlies

14. Which of the following statement is/are correct about the Himalayas of India ?
i. The Himalayas are geologically young and structurally fold mountains.
ii. Shiwalik is the outer-most range of the Himalayas.
ii. Mt. Everest is located in the Shiwalik.
A) Only ii and iii B) Onlyiandii
C) Only i and iii D) All of the above (i, ii and iii)

15. Which of the following river is not a east flowing of Kerala ?
A) Kabani B) Bhavani C) Periyar D) Pambar

16. NNP at Factor Cost is equal to
A) GNP at Market Price — Depreciation
B) GNP at Factor Cost — Depreciation
C) GDP at Market Price + NFIA
D) GDP at Factor Cost + NFIA

17. The Planning Commission of India was constituted in the year

A) 1947 B) 1951 C) 1950 D) 1956
18. Which Five Year Plan adopted the Mahalanobis model for the investment pattern in
India ?
A) First Five Year Plan B) Second Five Year Plan
C) Third Five Year Plan D) Fourth Five Year Plan

19. What is Bank Rate ?
A) ltis the rate of interest charged by banks against their loans
B) It is the rate of interest given by banks against the deposits received
C) ltis the portion of the deposits that banks are required to maintain with the RBI
D) It is the re-discounting rate that RBI extends to banks against securities
A -6-
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LereuLd LITe»DEHafled 615 (LPSETEOLOLT LITEDSHET 616N HDLPSHSLILIBF DS 2
A) o BLomdpLI LITe» ST B) euewr_ev Limewmsair

C) @saflwaev Limewpser D) @®s@ uremsHer

1o ara Gos eprguiler Letallsemarsd Gplde Casr(h
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A) 1947 B) 1951 C) 1950 D) 1956
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A) s BT S Lb B) @ua_reug gbsresn®) B b
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HGLD
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al@1Lb

-7-



127/22 - T

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

Which Article of the Indian Constitution allocates legislative powers, including taxation,
between the Parliament and the State Legislature ?

A) Article 246 B) Article 265
C) Atrticle 280 D) Article 285

Which of the following Schedule contains provisions relating to disqualification of
the members of Parliament and State Legislatures on the ground of defection ?

A) Tenth Schedule B) Fourth Schedule
C) Sixth Schedule D) Eighth Schedule

When the President of India decides not to take any action on the Bill passed by the
two Houses of Legislature, it is known as

A) Absolute Veto B) Suspensive Veto
C) Pocket Veto D) Qualified Veto

The Headquarters of Northern Zonal Council is situated at
A) Shimla B) New Delhi C) Chandigarh D) Jaipur

Which of the following Fundamental Right is available to both citizens and foreigners ?
A) Prohibition of discrimination on grounds of religion, race, caste, sex or place of birth
B) Equality of opportunity in matters of public employment
C) Right of minorities to establish and administer educational institutions
D) Equality before law and equal protection of laws

Which of the following cannot be included in the category of writs ?

A) Injunction B) Habeas Corpus

C) Prohibition D) Quo Warranto

Central Vigilance Commission was established in the year

A) 1962 B) 1963 C) 1964 D) 1967
The procedure for Amendment of Indian Constitution is described in which Article ?
A) Article 368 B) Article 365

C) Article 367 D) Article 369

Collective responsibility is a feature of system of Government.
A) Presidential System B) Unitary System

C) Federal System D) Parliamentary System

Who is the Ex officio Chairman of Council of States in India ?

A) The President of India B) Vice-President of India

C) Speaker D) Deputy Chairman
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@bPw YrRwewemwiler sl L9Mey, wrhew FLU L LD6TDEI%SEHSS LD
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A) QepFdFe B) Gamilwev smiLiev
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Fn L (D1 ClUmmILIL) 6TGTLIG STFTEIGSHGT &1k S LDFLDT(GLD.
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C) L L& yedioLiny D) umpnepiossip ewioLiny

@pFwralled 2 6rar LoTFleVEISTEIUNGT B HTILYTO FEGUT WTT ?

A) QBBlw gaBLG) B) @B8w giewen gL

C) sumpmwsi D) siewenis semevaurt
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Who described Prime Minister of India as Primus Inter Pares (First Among Equals) ?
A) Lord Morley B) Herbert Marrison
C) H. J. Laski D) Jennings

The word ‘gambit’ is associated with
A) Hockey B) Chess C) Basketball D) Volleyball

The pen-name of the Malayalam writer T. C. Joseph is
A) Edappally B) Edassery C) Ekalavyan D) Edamaruku

The official mascot of the 2022 Winter Olympics Bing Dwen Dwen is a
A) Panda Bear B) White Tiger C) Wolf D) Raccoon

Appunni is a character in M. T. Vasudevan Nair's novel
A) Kaalam B) Naalukettu C) Randamoozham D) Asuravithu

The 2018 Asian Games was held in
A) Manila B) Doha C) Jakarta D) Bangkok

Ajayan is the central character in Adoor Gopalakrishnan’s film

A) Mukhamukham  B) Kodiyettam C) Vidheyan D) Anantaram
G. Aravindan’s film won the National Film Award in 1985.

A) Chidambaram B) Pokkuveyil C) Thampu D) Uttarayanam
The President’s Trophy Boat Race is associated with the Lake.

A) Vellayani B) Punnamada

C) Ashtamudi D) Veeranpuzha

Charreriais a sport that involves talented horsemanship.

A) Mexican B) lItalian C) Indian D) Chinese

Sarah Joseph won the Muttathu Varkey Award for her collection of short stories
titled

A) Othappu B) Aathi C) Mattathi D) Papathara

In which category of computer memory that a FLASH MEMORY belongs to ?
A) EEPROM B) SRAM C) DRAM D) SDRAM
-10-
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C) e14. G. ewavd) D) GQesiresflmian

‘SMDLIL’ 6T6hD uTidens 2 1 61 QFmTL_iiyeoL_wg.

A) aprs&) B) Qgav C) smenL_LiLipg) D) ensliups

LOGGILTGT 6T(LPSSTaTT 19. 5. CeomiiNesr Ljeweri1O)Liwii
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A) EEPROM B) SRAM C) DRAM D) SDRAM
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Which of the following is not a system software ?
A) Programming Language Translator B) Operating System
C) Spreadsheet Software D) Device Driver

Which network device is used to connect two computer networks that use different
protocols ?

A) Router B) Gateway
C) Bridge D) None of the above

The HTML tag used to insert a picture in an HTML page is
A) <img> tag B) <pic> tag C) <fig> tag D) <drw> tag

In which year the Information Technology Act was came into force in India ?
A) 2005 B) 2002 C) 2008 D) 2000

Amartya Kumar Sen was awarded Nobel Prize in the year 1998 for his contributions
in the field of

A) Literature B) Peace
C) Physics D) None of the above

The National Remote Sensing Centre (NRSC) of ISRO is situated in
A) Ahmedabad B) Hyderabad
C) Sriharikota D) Thiruvananthapuram

Where in India the first nuclear power plant was built ?
A) Tamil Nadu B) Maharashtra  C) Karnataka D) Uttar Pradesh

Which of the following statements is/are correct about Greenhouse gases effect ?
i. Nitrous oxide is a greenhouse gas.
ii. Carbon dioxide is a greenhouse gas.
iii. Methane is a greenhouse gas.

A) Only the statement ii B) Statements i and ii only
C) Statements ii and iii only D) All the statements i, ii and iii

How many States in India are traversed by the Western Ghats ?
A) 4 B) 5 C) 6 D) 7

Sum of first 30 terms of the Arithmetic Sequence 6, 12, 18, ...., is 2790. Then, the
sum of first 30 terms of the Arithmetic Sequence 13, 19, 25, ... is

A) 3000 B) 2900 C) 3390 D) 3190
-12-
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A) Blgewrnss Glwomy) QuwmpPeuwiciumeri B) 9yuGriigmid Hevi b
C) av96r afi” GloesTOLimpeir D) ygeeuav 1gegauri

OeuaiGaumy CpBl(LperpEsemants LweTL(HSSID Q)T (h Hesflest] O\BL Oleumids@Hsemar
Qenentss 61hs GlpL Gleunid Fngesid LWTLIGSSLILIBGF DS ?

A) el B) GaL Geu

C) L9 g D) GG e1giayib @)evenev

HTML wés38e0 UL gasd Glemals Lwea®ssriu® HTML @nhlétlFme

A) <img> tag B) <pic> tag C) <fig>tag D) <drw> tag
QpHwralled $saed CFTAGOBIL L1 FL L LD 6ThS eT(h BeOL (LPeODEG UbSH ?
A) 2005 B) 2002 C) 2008 D) 2000
QLigGwr GLomi Glaesr 1998 9yib gy evrged Qsmars Crrueh Lifle Cupmmi
A) Qs&Huih B) weow®

C) Qupriwed D) GuwGe ergiayb @)cvenev
@avGrradesr Crapented MG GClFar@m Glassr i (NRSC) @ev
9| GO LD H.S|GTATS].

A) s TLTS B) ewansgming

C) wfapfGsm 1 D) @mevesipsLygib

@B wralleh (Lpsed HewILbleT Flepeuil 6TmIE SL L LI L g ?
A) slipsr® B) wsmgmeyggr  C) sipmsm D) 2 $sm195Cs5Lb

Gifsranajev aflewarey eumysser LD LIeTaipLd FpmIsaiey 61g FMwmesg ?

I. Bl gev ydbenF® @h FHifcTanajav eumuy

ii. smiueT ev_ YdheF®h) @@ FifcTanajav aimuy

iil. L54CGs6 ep & fesTanaen eumyy

A) i o Bb B) i opmyib i or” G

C) ii opmyeb i or” Bib D) GG 2 éiter yemesiggiib i, i, iii
@pHwralled e1ggmest aBlewriser Con@d CSTL_TFF LESHTTCL HL bS]
QFev@eTmes 2

A) 4 B) 5 C) 6 D) 7

stassenlls auflens 6,12, 18, ... &, wpsed 30 eressrsailer gL’ (b 0lsmens 2790. srestleb,
13,19, 25, ... eravwrsenfls eudlenguiles (psed 30 eravnsalle ol HS0)STe0S @)FI0TS5
OCEaIET

A) 3000 B) 2900 C) 3390 D) 3190
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52.

53.

54.

55.

56.

57.

58.

59.

60.

Sekhar lost 6% by selling his motorcycle for Rs. 66,411. At what price should he
sold to get a profit of 6% ?

A) Rs. 68,427 B) Rs. 74,200 C) Rs. 74,889 D) Rs. 73,427

Salaries of Asha, Sreerag and Dileep are in the ratio 3 : 4 : 5 respectively. If the
salaries were decreased by 5%, 10% and 13% respectively due to Covid pandemic.
What will be the new ratio of their Salaries ?

A) 75:82:91 B) 57:72:87 C) 65:78:88 D) 70:77:90
6L +1312_ 73 4 _713 thenxis
11 22 55 110
5 8
A) 6— B) 20i C) 6— D) 11i
55 55 55 55

In a village 50% of the people have car, 30% have two wheeler and 15% have both
car and two wheeler. What percentage of the people in the village has neither car
nor two wheeler ?

A) 60 B) 65 C) 40 D) 35

The difference between compound interest and simple interest on an amount of
money in three years at the rate of 8% is Rs. 3,456. Then the principal amount is

A) Rs. 6,00,000 B) Rs.5,00,000 C) Rs.3,50,000 D) Rs. 4,00,000

Two trains 240 m and 180 m long run at the speed of 200 km/hr and 160 km/hr
respectively in opposite direction on parallel tracks. Then time (in second) taken to
cross each other is

A) 5.4 B) 4 C) 5 D) 4.2

A work can be completed by 8 men or 12 women in 25 days. 10 men and 5 women
will complete the same work in

A) 15 days B) 12 days C) 20 days D) 10 days

Volume of cylinder and cone are in the ratio 25 : 16, their height are in the ratio
3 : 4. Then ratio of radii of base of cylinder and cone is

A) 4:3 B) 5:6 C) 3:5 D) 3:4

In a company there are 50 employees. One employee weighing 64 kg retired and
a new employee joined in the company. If the average weight is then increased by
250 grams, what is the weight of new employee ?

1 1 1
74—k 73—k 72—k 76—k
A) 742k B) 737k C) 72k D) 76 kg
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55.
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Gaait sesig ComL’ Lmi engdFlenar en. 66,411 &@& allpwset epevrd 6% Bayl _LoewL BEi.
6% erLith Glup Ceuesr(RGloeIpTey 6TetTar aleevd @ allns Geusss(h)Lb
A) Rs. 68,427 B) Rs. 74,200 C) Rs. 74,889 D) Rs. 73,427

2o, Wfard wpmitb Hedrt & Cuinfer Fibuerd pedpCGuw 3 : 45 erettp 09F)55F) 60
o arong). Csmail QsmomiCrmes srgewions Fberd wpewpCuw 5%, 10% wpmib
13% GeopssLiLl g psmed. yeuisaier FbuasHer Pw aNFFLD eT6TesTol s
Q@BEGLD

A) 75:82:91 B) 57:72:87 C) 65:78:88 D) 70:77:90
61+131—5—7i—x=7—, 6TGHTIGU X GTGSTLIG| GTGHIGE 2
11 22 55
5 8
A) 6 B) 20> C) 6— D) 112
55 55 55 55

@ Fomwsge 50% Gui smi, 30% Guir @ F4&7 eunsesid mHmitb 15% Guii smi
LDMILD @)(B FHFT QUTHTILD eUSSHIGTOTesTT. FITLOGH) 6THFenast FSai5b GLI(HS S
SI(HLD Qe ()5 FSHT UTHGILPLD @)eVEM6V

A) 60 B) 65 C) 40 D) 35

8% e1681p @uUL” 19 GNFBSF eLpen) Y eT(HS6N6D Q15 OB TnBHHTGT Fnl” () UL 19 FGHLD
etaflw el 19&@Ld 2 6rer alGSwnad en. 3,456. &6 (LpSH6O®H) LIGHILD 6T6HTGS
A) Rs. 6,00,000 B) Rs.5,00,000 C) Rs. 3,50,000 D) Rs. 4,00,000

240 5 wpmdb 180 15 perwpeww Quesr® gullevser 200 &b/ wewdfl LopmiLh
160 S5/ 1oewst] CausdGle (@)enewsTiTes LiTenss5ailch 615 HenFsaie (Q)uidbasLILI(HE DG,
Letrest (@ oet(hLb @asTenm QeSImI HL_ds 61(hb@Lb Cpab (alesmiy safleh)
A) 54 B) 4 C) 5 D) 4.2

@5 Ceuamevenw 25 B safleh 8 gy a6 evevg 12 ClLiesarTeh (LpL1g & (LpLgufLb.
<20s Caumawemw 10 gyewsesd 5 Cuansesd CoFibg ei$semet BTl &alleh
LPLY LTS 6T

A) 15 pr ser B) 12 pr seir C) 20 p seir D) 10 pr seir

FeSlesTL_IT LoPMILD FnlbLFeeT aray 25 1 16 allGsSH 60 2 6iTens), HaumMlesT o wigLb
3 : 4 G350 2 eitang). LiesTestiT FGOIGRTL T LOPMILD FonlDL|BETGT 919 L1L1SF %6 65T
2 05156M 6T all%)%LD

A) 4:3 B) 5:6 C) 3:5 D) 3:4

R Bneuerssev 50 uesflwmeniser o ereresi. 64 &Cevr e1emL_wjeitar e 2amPlwii
@uIa QuppTT P @@ YFw e fluii Bpjeuesig@ed Caipgsmi. spCLng Fums

etanl_ 250 @gmib PFMSFm6v, LYFw LicwiwTeriesT eTenl_ 6TesTes ?

1 1 1 1
74—k 73—k 72—k 76—k
A) 742k B) 737kg C) 727kg D) 76 kg

-15-



127/22 - T

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

213, 314, 253, 327,
A) 315 B) 426 C) 572 D) 514

Argentina : Buenos Aires : : Bhutan : ?
A) Thimbu B) Dhaka C) Kabul D) Manama

The mirror image of a clock show a time 10 : 20. Then real time shown by the clock is

A) 1:20 B) 1:40 C) 2:40 D) 2:20
If August 1%, 1975 was Friday, then September 30, 1970 was

A) Friday B) Saturday

C) Thursday D) Wednesday

In a certain code, JOURNEY is written as VPKSOFZ. How is ACQUIRE written in
that code ?

A) BDRJSVF B) VJSFBDR
C) RDBVJSF D) JDRBSFV

At the time 10 : 20 the hour hand and minute hand of a clock form an angle of
A) 180° B) 160° C) 130° D) 100°

Rajesh moved 30 km in the west and then he turned to his left and moved 20 km.
Then he turned to his left and moved 30 km. After this he turned to his left and moved
40 km. How far is he from the starting point ?

A) 20 km B) 10 km C) 30 km D) 40 km

Find the odd man out :
19, 9, 51, 35, 73, 99, 201, 243.
A) 9 B) 99 C) 51 D) 35

Pointing to a person Raju said, “she is daughter of the only daughter of the mother
of my brother”. How Raju is related to the person he said ?

A) Sister B) Niece
C) Sister-in-law D) Aunt
Value of 1 of 1 of 1 of 1 of 90840 is

3 4 2 5

A) 753 B) 758
C) 757 D) None of these
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213, 314, 253, 327,
A) 315 B) 426 C) 572 D) 514

<210lggaeiTig et LyGleuesary gyuiienw L Ly L medr i ?
A) @by B) Lngsm C) smyed D) wewmiom

51951755651 Hevrewntriy L1 b 10: 20 Crrgemasansd s RS G 616flcd HL9HMILD
&M (Bb 2 esstemiouirest GpyLb

A) 1:20 B) 1:40 C) 2:40 D) 2:20

g savl” 1, 1975 Gleuerafld&penio eresrpmed, GlFi_tbuii 30, 1970
A) Gausraf B) e C) aSwmpest D) ysaeir

@5 GO L @plufi 1960 JOURNEY ereiriens VPKSOFZ erar erps il (heirens).
<9bs GOl 1geb ACQUIRE eriiuig erapsiiul’ Beirers 2
A) BDRJSVF B) VJSFBDR C) RDBVJSF D) JDRBSFV

10 : 20 CrusHev, (i HL4EHTISF 6T Loewf] (LpeiT LoPmILd HIOL_ (Lp6iT 2 (6uTdH G LD

Qs mewtLd

A) 180° B) 160° C) 130° D) 100°

g1Ggay Guop&ed 30 SIS paipsrt, Ketert yeud QL giywib Hpb) 20 S
B&iBsTI. L9D& QL g Lssd Dbl 30 S paiBsTT. Qdd BT iihg, eui
S5 QL giLpid o) 40 G paipsTi. eur CFmL sl Lerefluded ®bs
GTRIRIGTR| FTISSHV @)BEF DT ?

A) 20 km B) 10 km C) 30 km D) 40 km

QISP WITFLDTGT 6T68T6H 68T F6usT (H)LI LG
19, 9, 51, 35, 73, 99, 201, 243.
A) 9 B) 99 C) 51 D) 35

R(H BLMT FL19SHTL 19 F199D “‘eueT 61esT FOHTHgetletr gyLbomallest G Lokaflesr
LD&GT"’ GTGHIM FnWGSITIT JTETOGYL_GT 6wt ClFmesIaT BHLIi 611 O\STL_iLjeDL_Weui

A) #Csxrsi B) wo@Loser C) ocvorenst] D) wsems
1ofloflof1 of 90840 (@) ¥

3 4 2 5 Gair tofliiny

A) 753 B) 758

C) 757 D) @eeu e1g10yb Q)ebeney
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71.

72.

73.

74.

75.

76.

77.

They have spent for their son’s wedding.
(Fill up the blanks choosing the right word.)

A) Many B) Enough
C) Any D) The little

Choose the opposite word for subversion.
A) Destabilisation B) Clarity
C) Compliance D) Sanity

Nancy said, “I may leave tomorrow”
(Report the sentence.)

A) Nancy said that she might leave the next day
B) Nancy said that she might leave tomorrow

C) Nancy asked if she should leave the next day
D) Nancy informed me to leave tomorrow

He is polite to everyone.

(Rewrite the sentence as a negative sentence without changing the meaning.)
A) He is not polite to everyone

B) He is impolite to everyone

C) He is never impolite to anyone

D) He is polite to anyone

It was the fight of the snake with mongoose.

(Fill up the blanks choosing the right word.)

A) Bad B) Worse

C) Worst D) Fine

You are an Indian. ?

(Use the right question tag.)

A) Aren’tyou ? B) Don’t you ?
C) Isn'tyou ? D) Couldn’t you ?

Read the following sentence and complete.

Hardly had | entered the station the train left.
A) When B) Than
C) Then D) But
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79.

80.

81.

82.

83.

84.
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Brutus stabbed Ceaser.

(Begin the sentence starting with Ceaser.)
A) Ceaser was stabbed by Brutus

B) Ceaser is stabbed by Brutus

C) Ceaser were stabbed by Brutus

D) Ceaser is being stabbed by Brutus

If the game is good, | play it.

(Fill up choosing the right option.)

A) Would have B) Would have been
C) Will be D) Will

The children will learn from their mistake.

(Fill in the blanks choosing the right option.)

A) Incredibly B) Possibly

C) Apparently D) Surprisingly
The aeroplane at the right time.

(Fill up choosing the right option.)

A) Lined up B) Took off

C) Stood by D) Brought out
The cat the mice.

(Fill up the blank choosing the right word.)

A) Eat B) Eats

C) Eating D) Eaten
There was traffic on the way.

(Choose the right alternative.)

A) Hard B) Heavy

C) Thick D) Much
Frame a question to get the underlined as answer.

They lived here for long living.
A) How long did they live here ?
B) Where do they live ?
C) What do they live ?
D) When do they live ?
-19-
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85.

86.

87.

88.

89.

90.

| was not unmindful of the fact.

(Pick out the phrase nearest in meaning.)

A) Had not forgotten : was aware of the fact
B) Was not careful about the fact

C) Forgot or was not aware of the fact

D) Were not aware of the fact

The corrupt officials had bribe.

(Choose the right option.)

A) Accepted B) Excepted
C) Exempted D) Exceeded
A government run by a dictator is termed as

(Choose the right alternative.)
A) Autocracy B) Democracy
C) Oligracy D) Theocracy

Bag and Baggage.

(Choose the right option to get the meaningful expression.)
A) All the clothing

B) Leave

C) Without any belonging

D) With all one’s belongings

He in the States, but he still doesn’t have a command over the English

Language. (Fill up choosing the right alternative.)
A) Have been living

B) Has been living

C) Living

D) Have lived

Complete the following using appropriate phrasal verbs.
The boy was by his uncle.

A) Put up

B) Brought up

C) Bought up

D) Took up
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91. suilp Complufed Caresmili (Lpsed Blasewsi(h 61g 2
A) Seunsgib B) ssips01%)
C) swnsgib D) @evsdsent alerdsLd
92. ‘aiEd’ Glerevedler e1®iid GlFmey ?
A) ety B) saflliy C) Gmeib D) @sib
93. werel), LeTeflser eT6TLIG ©
A) 61910 FTHEHGT B) mauioessiiseir
C) @meLo, LicTeLD D) eresorGuLigmuith
94. “The Law Maker should not be law breaker ”- ereitp LipGlomfludieir FLbliprssasid
A) CaucliCw Lufleny Couibgme allewareuGlsLiLig 2
B) Oummyssmi b oy ereumi
C) st gL malll L _mepitb F6T Feang 3y, (HILD
D) weienuilenss seirapuili Guimev Blewest
95. Qasmevsmii i BIed (Lp(LpeLod@GLd 2 T eT(LpHwicur ?
A) Coestreuengurt B) Gugr@fwii C) n&&ui D) @eribLygesstii
96. 2 1bewLogGlsTemS ?
A) 9955199 mw B) Geupnlevevrins s
C) wpanemressid D) @easflws Glempser
97. e + @L LD, Lew1idF alF) 2
A) @b B) ot ib C) wewgar_b D) wi i 1b
98. “Ggib petmid DGy euTgT
Crrsaib seflgeib 2 eunCnryesies ” — Limg wiai.
A) &> Fpmi B) senflweir L@ eipermi
C) wm_ari Sipmi D) Gseu@wssmi
99. Ogrevsriwib GOILIRL COLTaTCSTTS6T 6TdFemnaes ?
A) @uew® B) e ® C) preing D) e2si

100. Ouesenesnt aual@n Olsmerealg 2
A) Gsuiaib B) snps@meuth C) wwbleev D) @Quréssib
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Space for Rough Work
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prwwoe) @ibir Cocrod

82103)6188)6S @RS ag)empo : 100
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mawo : 75 almlg’
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§0600 HBBHWODMAlHeJ0 MMHIWISIBR 2106 03P BOBHO EHIW BOAIOIOS al@lEud a0dgleel edlal
SO GoeI6Q|S OGO

. Mlem@BenH MG 2IBlon M @OHHO BHOWIM MIMio QAIYMIRAOQ GHOAUIRILER 62103 alJTYEM06M

eIEleemMe®Eslcd @o® ©sms] enadalledlerigoies ¢yELYITINR|SICEMENS®OEN).

321060 1}(Nd: (HAMMIB alj0o 2ISWIOS QILIGIAIED NiBSQODOQS GaIBEISLENE. (@AMMID EDRIOED
62106 §014TYEM06M M6N3WHE) RIEIEOLME®BSIT BOED BOLHUD GHOUSILIYSE 62106 jaliNd0 MOF] AUOEIBYE:.

62106Y allqydo Qleimy modZIMI@ aaLYEONEDOR] Ml 6.21Qfldlenie. HEMOOALIMIMISS BOMYA
2IE12J0RIRI06®m 62103y allydho MIOHHIM aldsipl.

. al@lext mysendlworlysad eaywodmd miles eI adeniam ea106y aliyeomid 100 ealosymealo (B-0m0wl

9B86N30 o)y al@lGUOWIBHHB®OEN. 32I0BY all(RB-OTIT @0.SIBOHOMDE®O, B&5IGIEMI, ANSIBAIdWE®I
BOW BalR)dh0d HENSORIQ); BOLONID HEENSESIM @OLH0 Y0 SHMANLEIERIGOIOS YBHRLEIT HE06NSINICl W0
@OE® EOMHUO GHOUIRLAR o RBENAOW E210BY aly(Rdho BOF] QUOEIBIG®I0 6).218YENZIEM. D® a0
(IWOMEQ|S®mIE.

. 607 @a19a8)ealg|dleal 1 aym@ 70 cuenw 88 €2106)6B¢ sogilatlalje mal¥lanmow @raldlafidlenmm;. eno

@210B)6IB8)6)S @RAMA0, BdLEM ag)(MTIaL MosnIMU] 2] ModWEBWRSS Eoflad mow ya®ileles 62106 JEBEI6M'
@RWOODIBHNMN@.

62103y Al RHH-OTIOMR GOOITVOM GalgflNy H@IZYMIMai BANIo g)PIMOD NS Galez)dd BoldEBISIeNS. O
OO0 HENMSLallSleniM@IMIas &l0laidREeIRS §alEROUWlERHINILM@IEN.

OOMAEBRD BOEUOE|SIOMIND @RWoElLHIM@IM’ aimi’ 9EMALHSLIOMINR B0l }0OmIes WACGUEBWD
©BRLIAIBOY 0 AU H6 6.

0AEmoo §BeROS 808a0 saloaymmlmo (A), (B), (C), (D) agm moel pemasmsd mmidleeo. xodl
QYOO HBOEETTTNSIOTH 63. ag)o. BBD. HETHOSOHSLIOMIE cNIMLERS G2 106y MMUGIT EMOHOWIRE DA IEMOC
agofloflenyam @xalg (eruenliid) mo@o MIRIBRIO d048a]0 6rIOM Galo@I Galm 9ale@OUsl e @0l fleee:.

£0600 AW EMEETIM o B0} MODEE RIEl 86 )W o 8080 H®RIEMAEDTIMIe 1/3 Modes Mayadnlje:w o
6.21Q)}0. HOMOO BOEUAQS}AMOMM G206 EIBUWBE AL May@OB@Sg).

@110 e G:¥lamaiay myemIo, semeensamsmaleeainann aq@a lonoemewd 6oy oeauodmalwe
al@lB:00000 QS allO@mYBAIOB:M aldslg).

MBCZEIBR H:BMAQS aloelEenaBmIe. aldlAtW]a (HACHNS MSOMIHEWI @GIMISS Cymo
MSOMYHEWI 6.219130M 9BBINIAdMAlH68 BOEWON W (aleuidallenimmmosn.

-24-




